
Y3 – Autumn – Block 2 – Step 4 – Subtract a 1-digit number from a 3-digit number - crossing 10 Answers

Question Answer

1

a) 242
Take 3 ones away from the 5 ones of 245

b) 237
Change 1 ten of 245 to 10 ones to make 15 ones, then take 8 ones away.

2 304

3

a)

b)

c)

4

a) 127
b) 415
c) 243

5 217

6

a) 308
b) 653
c) 468
d) 668
e) 822
f) 818

7

a) 524 – 3 = 521
524 – 5 = 519
524 – 7 = 517

b) 188 – 5 = 183
183 – 5 = 178
180 – 5 = 175

8
a) Dexter
b) Mo has subtracted 2 from 9

9

multiple possible solutions:
360 – 3 = 357                     364 – 7 = 357
361 – 4 = 357                     365 – 8 = 357
362 – 5 = 357                     366 – 9 = 357
363 – 6 = 357

10

a) 3
b) 3
c) 7
d) 290

✔ ✔

✔

✔ ✔ ✔


